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GUJCET o
BOARD QUESTION PAPER-1
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Time : 1.00 Hours] stfeia (050(G)) [Total Marks : 40
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1. ‘&f:R—{g} —>R—{§} ; fx) = 5:_3, gl dl

(A) fl(x) = 2fx) (B) f1(x) = fix)

©) f1x) = Sx) (D) £(x) 4 vk dl.
2. f:Rorfix)=3x+2

" g:R-oR gx)y=6x+5
2§ QY w2 (gof1)(10) =
' 8

(A) 21 B) 29 (C) 7 - (D) 3
3. o {1, 2,3} Wl Adke S = {(1, 2), 2, 1), (2, 3)} d, Aei4 S A :

(A) WuRd «l.  (B) Al 8. (C) Waus 9. (D) ABY Aoiw .
4. tan!(cotx) { cot !(tanx) = (L, 0 <x < g)

(A)g— . ®) ©) 1 — 2x D) 7 - x
5. cos (2 (tan*‘é + tan™' SD = .

, -

) N;3 . B)0 . ©O1 . D) -1
6. AABC M2 A=tan! 2, B =tan! 3, dl C =

AT o mE ok 2

(A) p B) 4 © 3 (D) 6

7. (2,9, (7, k) ¥ (3, 1) RAGgu Bislad Axga 10 A K o yeu = .
(A) =5 wua 35 (B) 5 waal 35 (C) 15 wadl -5 (D)5 viuaL 25

k+r p q
8. °&'k=p+q+r,c{l r k+p g Al (Ba 8.
r p k+gq
(A) 2k? (B) 2k3 ©) k? (D) 3k?

1 —cos0 -1

9. @aD=|%0 1 -cos®| 3 ol D § sewn et p dun D of Yrie 4
1 cosO 1
q €W dl 2p + 3q 0l Bua . Y,

(A) 16 - .(B)6 (C) 14 (D) 8

I
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10. A A= [ } Q. dl A2 — 6A =

(A) 271 B Sl ©21 . D30k



 For GUJCET Common Entrance Test

il o Mathematics 299
: Ix 370«
ﬁ 2 '
1. A4 [23 4] 5|2 =0 ¢lu dl x
32 x]lo
7
@) 3 - B3 © -3 ®) -3
3 d .
12. Ex—(sfi sm(?x+§) + cos(2x+§)) =
(A) 4 co§2x (B) 4 sin2x (C) 4 sin2x (D) 4 cos2x
13. a5 fix) = (x - 5)2 A [4, 6] W s 3y @y PBig 2uaa-l 2uals
A4, 1) 1 B(6, 1) A Asdl @ wiiqz 8.
91
(A) 4, 6) (B) (5,;) ©) (0, 5) D) 5, 0)
| ; (log, 2x)*=%; x21 .
14. [ fix) = { (;_1)3_ :=1 8.9 AL A x = 1 wWam udd €4, dL K
(A) e +1 - B) e (©) & D)e-1
15 | & = ; (n -
" 7 cosxy1+cos2x+sin2x —— vo (il <x<)

(A) 2 + Jeotx (B) Jtanx+1 © \/2+2tam; (b) N2+2cotx

‘ sin2x 1 o 1
16. 4 Ism_Sx_sm_S'x dx = 3 log |sin3x| — 5 logjfix)| + ¢ €l dl flx) =
(A) sinSx (B) sindx ~(C) sin2x (D) sinbx
17. udd Welds 4 X o denai R 13 01 8.
X=x 0 1 2
P(x) 4C3 4C-13C2 7C-1 ;i C>0dC-=
1 1
(A) 2 B) 1 © 7 (D) 1 and - 7
18, Rudl Raralg weud-u @AY 3 wwd 8. :
P(x) = (6) p*¢** x=0,1,2, ..., 6. A 2P(2) = 3P(3), €l dl p =
X
@A) 3 (B) 3 2 5 2
X-15
19. wifss e X - s ¥ Wil [Qudrt 2igs 10 210 5 8 dl E (—5—) -
A) 4 ®3) 3 ©) 2 D) 5
20, [l s uRa Giesl RRAGE (0, 10), (5, 5), (25, 20) da (0, 30) 8. dgasl

Rl Z = px + qy (@ g > 0 L e Bua (25, 20) dar (0, 30) GuR A dl

pdu g -l el _ |
(A) 5p = 29 B) 2p = 59 ©) p=2q D) q=13p
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21. Qaflax2+by?=1;i=1,26.%4a #2 b, # by, a;, ay, by, by # 0 o]
ol ok

(A) aja;, = byb, (B) a;! — a7t = bt - by
(C) a/! + ay! = b;7! + by - (D) ajby = azb,
22. A x wd y A A Bl sHa cugili W QY dul y = x + x2 §ln ol ol Ay
Aotsuell dad A A wlda 9 € 8.
(A) x2 + 3x—1 (B) 2x2—_3x+1 C2x2+3x+1 D) 1+2x
23, ¥ 20.99 4 WA Y& Q.
(A) —0.9967 (B) —0.9976 (C) -1.0033 - (D) -l
24. j——L;X>1= + c.
[x10 _ 42
10 ) 10 _ 2
(A) —log -x? + x? (B) Eloglx -X I
|
© —% sec’ (x“) (D) r sec (x )
n
25, Ic‘i“"(x cosx — sec x tanx) dx = . +C,0<x< 3
(A) es™(x — secx) (B) eSi.“"(secx - X)
(C) esi™xcosx (D) esinx(x + secx)
26. j sin(11x) - sin%x dx = _ +e
. L
sin(10x)- sin'® x B sin'' x
) 10 ® 11
10
sin(9x) -sin’ x cos(10x) - cos'~ x
© 9 (D) 0
log3 x_
27- ‘[ cot_l (ex 1] dx =
~log3 e +1
(A) Flog 3 (B) mlog 3 ©o0 (D) mogd
1007 ’

28. I | cos x | dx =
0

(A) 200 (B) 100 (C) 50 Do
n/2
29. j (x — [sin x]) dx =
0
(e, [x] = x dl a4 da dal yalsiui el WA yals).
ﬁ . nzh . ﬁ2 Zt_z_
,(A)s.—z (B)T_] (C)?_:l (D)8
2 2

X | , 3.
30. (uaey Zzt %7 = 152> b W A ufdel ad- wag e °
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31.

32.

33.

34.

35S.

36.

| 37

|38

39.

40.

. COSY =

(e-Guadull 6wy gqfy 8.) | - 3;’ ;
(A) 2b(be + asin-le) " (B) 8b(be + asin-le)
(©)blbe +.asinte)  ~ PN (D) 4b(be.+ asin'e) ‘
% fx) = sinnx 4 X-wia Wi g Hedld &siga -8, W@X'ialﬂl. 2.
(A) 8 m 8w b L] ,
- (B) — oL (D) 6n

' . d2 N3 X ‘ ' -
Qs wlsa d—xZ) + % = Vx; x>0 Al g2 A YRS s 8.
(A) 2 w3 6 | . B)3a12
(© 2 3 (D) 2 ¥ WRHA viedralld
v ;-tow&u Mo HAdl dul GRrlBigaill wur adi asq w{lsw 8.
(A) X2+Y2=k2;'keR B) Y = kg k € R
O x" =k’ keR D) x* -y =k3 ke R

dy 1 :

[Qsa wllse il Ty+2 .'ﬂ Asetsirs vaud (LF) éf
(A) exty+2 (b) e | (c) e (d) loglx +y +2|

BaA+b+T=0au|a|=3|b|=5]|c|=7au(3"b)=q du, d
o = . .

2“ . . .
@ T ®; ©F7 o
A(1, -2, 4), B(5, =1, 7), ¢(3; 6, -2), D(4, 5, —1) 4 & dl AB on CD 4z-l
Ay ' ' '

&) (2J§,—2J§,2J§) . (B) % @, 1, 3)
(C) (ls _1: 1) ‘ Co (D) (2: _'2: 2) .

Big A D 2 4Ry (4, 2, -3) 8, dl Big A 4 XY=rdadl p, aul Big A 4 Y-
el MR py A dlp +pp= . |
(A) 8 _ ®) 3 © 2 (D) 7

AMdd ax + by + cz = 1 2&ld gsdA A, B v C 4 82 § dul AABC o Hedw

G G,_é,d) 3 da+b+ 3=
(A) _g- | (B) 4 O 2 (D) %
Y x =4z + 3,y =2 -3z R o, B A y Y, dl cosa + cosf} +

2 ' _8 |
&) 26 ®) 726 ©1 @2
wsitad PR X2t Y-uidt w3 Z-vtaell 8t Rt 20l vl %,%
weu oirud B dal GLEUAgH Mdd R R dotrll do v2 QL dl, widay

Al A
(A)x+y+z=\/§ K (B)x-tyfz=l’

(c)x,+y=2 D) x = V2
o QaaQ

n
A 5 WYL
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[ GUJCET - ANSWERs alﬁ!ld ]
== MAY-2017 : QUESTION PAPER-1 |f—=——

1. Ans. (B) - 1 p 4
Solution : f{x) = Sx+1 Adl k+p+qt+tr=2k I k+p 4
5x-3 - 1 p k+q
ﬁa+ilx=0 =Ry R - R
) = £ ®) i
2. Ans. (A) ' = 2k 0 k 0
x—2 ' 0 0 k
Solution : g(f' (x)) = g ( 3 ) = 2Kk
. ' Ly . _ 3
2 A D=2K
=65 )*+5 |9 Ans (C)
— x4+ 1w x=10 Solution : D = 1(1 + cos?0) + )

cosG(cosG + cosB) — 1(cos?0 — 1)

= 21
3.  Ans. (A) D =1 + cos20 + 2c0s?0 — cos20 + 1
. = 2
Solution : =l (1, 2) € S dul (2, 3) € =2+ cost)
S®. w(l,3)e S: S uuld . '9_4"1:
4. Ans. (O) . 2p + 3q = 14
10. Ans. (A)
Solution : {1 4 4
T cotieot x) + T — tan(tamx)| Solution : 414, ea=271
2 S 2 4 4 1
=m-2x 11. Ans. (O)
5. Ans. (D) | "
1 | , ; ‘
Solution : tan'Z + tan'S = o Solution : [20 20 + 2x 21 +4x] | 2 [ =0
- 0
n
. cos2 X — = cosn = -1 5
B 2 : = 24x + 40 =0 =>x=—§
6. Ans. ‘ :
Solution : A+ B+ C=m 12. Ans. (]Z)
I ) : T T
= — Solution : - ZSm(Zx.+—-+—)
A+B=7 olution dx( **+3%% ]
_z | 4254 ™
7. Ans. (B) 5 5 d
7 x . (2 cos2x) = —4sin2x
Solution : 10 = 51, , 13. Ans. (D)
?e (6) - f4)
k=5or-35 Solution : f°(c) = 2(c - 5) = L%#
8. Ans. B) | = 0 (using LMVT) .~ 'c=5

Solution : C; > C +C2+C3 2 ARy A - (5. 0)
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14. Ans. (A)-
Selution : A1) = f{1*) = fi1)

(loga 2x—1)log, 8

Iim e
x=1
& = (k — 1)3
_nloga8
e(lur)g22x l)log;x
- x=1
k=e¢+1
15. Ans. (C)
sec? xdx

tanx =t

Solution : I—m
sec’xdx = dt .. 2+2tanx + C

16. Ans. (A)
sin(5x — 3x)

Solution : I sin5x sin3x

) ,[ sin5x cos3x — cos5x sin3x
sin5x sin3x

J (cot3x — cot5x) dx

1 1
3 log|sin3x| — 5 logjsin5x| + C

CIP(x)) = 1
17. Anms. (C)
Solution : 4C3 +4C - 13C2+7C-1=1

1
. C= 2 Y.
18. Ans. (A)
Solution : 2P(2) = 3P(3)
2 x 6Cop2qt = 3 X SCyp’q’
.1
On solving p = 3 (asptq=1)
- 19. Ans. (O)
Solution : v = 52 = 2§
o B2 = 25 + 102 = 125
. (x2 +225‘—30x)
25

1
1 (E(x)? + 225 — 30E(x)) = 2
20. Anms. (A)
Solution : 25p + 20q = 30q
5p = 2q

21. Anms. (B)

ety

Solution : A a;x2 + bjy? = | ¥ ax? +

byy? = 1
1 1r_1_1
a2 b, b,
22. Ans. (O)
dy
2y—
dA
Solution : —=% = dt
dA, oy dx
dt
y dy
x dx
- L (1 +2x) 2x2+3x+ 1
X
23. Ans. (A)
Solution : —0.9967 .
24. Ans. (D)
j 4x’dx
Solution : 453 xx\/xa—l
J' 4x3dx x4 =t
4x* VxB-1 | 4x’dx=adt
J‘ dt _ 1 I 4) r
—F—=— sec (X
Atti-l 4
25. Ans. (A)
Solution :

Ixe‘“‘" COSX — J‘e““" dx —
[(seex - e‘i'“‘)'— J"e""‘" dx)
e (x — secx) + C
26. Ans. (A)
Solution : j sin(10x + x)sinx dx |
jsinle cosx sin’x dx +

J coslOx sin!% dx

sin'® x 10
sinlOx —— Isin“’ cos10x
10 10 R
dx + Icos(le) sinl% dx 0
sin(10x) + ¢ |
27. Ans. (B)
Solution :
= T cot"[c 1) = hr cot™ (—:'e;]d"
—log3 *+1 g 1+e
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log 3 36. Ans. (D)
2=n I dx Solution : AB=(4,1,3), CD = (1, - )
_ ~log3 Now projection of -
I = nlog 3 6. CD |
28. Ans. (A) ABon CD = éB———J - CD -
w2 1 l‘f%'
Solution : 200 I cosx dx = 200 = (4 j_+3) C \/—
3 3
29. Ans. (D) =2, -2, 2
" 2 37. Ans. (A)
S T . :
Solution : J xdx ) Solution : p; = | z |

0
30. Ans. (A)
- Solution : 2b(be + a sin-! e)
31. Ans. (C)-

|
Solution : 3 I sin(mx) dx
0
6

. n
32. Ans. (O)

Solution : order = 2
' degree = 3
33. Ans. (B)

35. Ans. (O)
Solution : |a + b* = [cf?
H +|B|+2§-b=|c|2

P2 = \/Xlz + Y?
pp+p=5+3=28
38. Ans. (O)
Solution :

o) o) on)

""*3"‘:’(3 *3b” 30) (1 3 )

'.a—2 b=-1,c
~a+b+3=2
s5d (C) Y ©.

39. Anms. (A)
. x-3 y- 2__
Solution : T——3'—l
4 1
coso, = —J= cosff = T ﬁ
2

. coso. + cosf} + cosy = E
40. Ans. (C) |
Solution : P = Gl[egy] andas eot vidr

oo T T
COS—, COS—, COS— |
( 4 4 2)

%)
cETEE
o xtys
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